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Purpose 

Occasionally one is interested in the steady-state values 

of the peak-to-peak ripple and the average response of a system 

excited by a periodic driving function. Also, the build-up of 

this response to the steady state is sometimes a point of inter-

est. The author's problem was finding the maximum, peak-to-peak, 

steady-state ripple current in a quadrupole magnet driven by a 

six-pulse, SCR, bridge rectifier. The solution to this problem 

is treated in the examples {III) below. 

Method 

This type of problem can be solved rather easily by a tech-

nique in the complex frequency domain. Essentially the principal 

parts of the Laurent expansions of Y\(s) about certain poles of 

this function are summed together forming the aperiodic response 

function A{s). This A{s) function has terms of the form 

~k 
n' 

(s + s 0 ) 

which are valid everywhere in the complex plane 

except at s = -s . 
0 

These terms transform to the time domain as 
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Having found A(s), it is subtracted from Y(s) leaving a function 

P(s), which is the periodic response function. 

It remains to describe which poles of Y(s) are to be used to 

obtain the summation of the principal parts of the Laurent expan-

sions. Let H(s), a rational function, be the impulse response 

function of the linear, lumped parameter, zero initial energy 

system--i.e. H(s) = Y(s) where X(s) is the driving function. XTsT 
Therefore, Y(s) = H(s) X(s) where: 

Thus we have: 

The poles of 

are those of 

X (s) = 
x·. ( s) 

0 

-s1' 1-e 

Qi;:ti;:T t(t): 
X

0 
(t) = 

0 : t<O 

Y (s) 

s = (J + 

Y(s) = 

jw; 

H(s)X
0

(s) 

(1-e -sT) 

T 

about which Laurent 

and t>T 

= the period. 

expansions are to be 

H ( s) , those of X ( s) , and the simple pole of 
0 

made 

1 

(1-e-sT) 
at s = o. H(s)X

0
(s) may also have poles at s = O. The principal 

part of the Laurent expansion about the poles at s = 0 yield the 
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aperiodic time domain terms that are non-zero as time approaches 

infinity (the steady-state average value), while all other princi-

pal parts yield the aperiodic time domain terms that go to zero 

as time appro~ches infinity. 

A typical Laurent expansion about a pole of order n at 

s = -s looks like: 
0 

a_n + a-:- (n_-_, __ l)__ a_l 
f (s) = +· · • + ----=-h n-1 . ) 1 

~ ~+~~?~_, __ t_s_+_s_0_) __ .,,;------~ 
The princi_:,pa-1 parts valid 
at all B except s = -s' 

0 

1 
al(s+so) 2 

+ ao + 1 + a2 (s+so) + •• • 

"---·-· ·-··-··-y-~----,-··---__/ 
Valid at 

0 ~ Js+s J $ R 
0 

For all poles of H(s)X (s) not at zero, the following formulas are 
0 

valid and simple to use for the coefficients of the principal parts 

of the Laurent expansion of Y(s) about them: 

s = -s 
0 

s = -s 
0 

For the poles at s = 0 1 the principal part of the Laurent expansion 

is most-easily found by expressing the numerator and denominator 

of Y(s) as an infinite series and using the long division algorithm. 

Not many terms are needed and in many cases only the first term of 

the numerator and denominator are needed. The examples below will 

indicate the ease in finding the principal parts of all pertinent 

poles. 
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With A(s) in hand, the periodic part of the solution P(s) 

can be formed: 

P ( s) = Y ( s.) - A ( s) 

Po (s) H(s)X (s) 
0 - A (s) = 

1-e -sT 
1-e 

-sT 

p ( s) H(s)X
0

(s) -sT = - (1-e )A(s) 
0 

This periodic part of Y(s) has only the poles of ~~1~~ 
(1-e-sT) 

except for the pole at s = O, i.e. the periodic poles along the 

jw axis. As defined above P
0

(s) will transform to p
0

(t) in the 

time domain where 

p (t) 
0 

= fp (t) : 

l 0: 

O:S:t;S;T 

t<O and t>T 

In numerical solutions, p(t) valid for the first period is all 

we need since it repeats in all succeeding periods. Thus the 

above e-sT term can be dropped and we have: 

P
0

(s)' = H(s)X
0

(s) - A(s) 

-1 
p 0 ( t) I = ;: [ p 0 ( s ) I } = p 0 ( t) : Q.S: t.s: T 

knowing p
0

(t) ', the peak-to-peak value of ripple may be found. 

The average value of p
0
(t)' is zero. Thus the total solution 

y ( t) is: 

y(t) = a(t) + p
0
(t)' 

where p
0

(t)' repeats in every interval of length T. 

In summary, the technique may be formalized as follows: 
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1. Find: 

x (t) : O::;;.t::;;.T 
where x

0
(t) = 

0 : t<O and t>T. 

2. Determine the impulse response 

3. Form: 

H(s) = Y(s) 
x ( s) 

of the system. 

H(s)X (s) 
Y(s) = H(s)X(s) = OT -s 1-e 
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4. Collect A(s): the sum of the principal parts of the 

Laurent expansions of Y(s) about the poles of H(s), 

X (s), and the pole of 1 T at s = O. 
o (1-e-s ) 

5. Solve for 

P
0

(s) 1 = H(s)X
0

(s) - A(s). 

6. Transform A(s) and P
0

(s) 1 to the time domain as a(t) 

and p
0

(t) 1 ( Q:;;:t~T) . 

7. The total solution is y(t) = a(t) + p
0
(t)' 

where p
0

(t) 1 repeats in every interval of length T. 

Examples of--the Method 

Three examples of this technique will be aiven now conforming 

to the above summary. 



EXAMPLE I. 

1. 

2. 

3. 

x (t) : 

X (s) 
0 

where 

-6-

An Integrator Network 

E-

0 

E 

= (~) - (~) 

1 
Y(s) cs = = H (s) X(s) J:.. + 

Y(s) 

x (s) 

cs 

H(s)X
0

(s) 
= ...,.7--_-s._.T .... l-

\1 l- e ) 

X (s) 
0 

= ! -sT) • \l-e 
\ 

= 

1 
Re 

= 
( s+...!...) R 
\ Re 

& ) ( 1-e -sTl), 

.. 1 -sT sis+- 1-e 
\ Re 
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etc. 
'---+)" t 
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4. Using the formula for a_ 1 above: 

or: 

1 s = -­Re 
- (__!_) (1-eT/Re) (s+_!_\ Re · Re/ 
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Expressing the numerator and denominator of Y.(s) as infinite 

series: 

Y(s) = 

Using the long division algorithm 

E(Ti) 1:. - • • • • • . . s 
2 Ts + • . • ETl s = .•. 

.·. pp2=== 
s = 0 

E7Ts 

('Pi) 1 
E1~T -\. s 

Collecting the principal parts: 

f 1 1 {'T) 
A(s) = E '\T s -



5. 

6. 

p (S) I 

0 

p { S) I 

0 

a (t) 

Po {t) ' 

where 

-8-

Using the numerical values: 

TM-399 
0500 

Tl = l; T = 3; E = lv; R = lQ; c = 1 fd. 

A(t) = 0.33333 - 0.09003 e-t 

= ((1-e-t\ - [1-e-{t-l)J11 {t-1) ~ ' l -1 
' \ j 

l 
p Q ( t) I - 0.3333'.:> 

+ 0.09003 

7. y(t) = a(t) + p
0

(t) 

See Fig. 1 for a picture of these results. 
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EXAMPLE II. Full Wave Rectification Filter 

1. 

2. 

3. 

x
0 

( t) : ~sin(Tit) 

0 1 2 3 

-s -s 
X

0 
( s) TI + Tie TI ( l+e ) 

= = 
X2+TI2 S2+TI2 ( s2+TI2) 

~ 
: } Y (s) 

~ 
R 

1 Y (s) 
H(s) = X(s) 

R (R/L) = 
= R+Ls = . (s+R/L) (s+l) 

Y (s) = = 
-s TI ( l+e ) H(s)X

0
(s) 

(l-e- 8
) 

2 2 -s (s+l) (s +TI ) (1-e ) 

where X(s) = 
X (s) 

0 

-s (1-e ) 

4 

TM-399 
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----::;::.. t 

:;:::.. t 

L = lh 

R = in 
T = 1 
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4. Using the formula for a_
1 

above: 

PP _ n(e±l) 
16=-l (TI 2±J.) (e-1) (s+1) 

= O; PP 3 0 
s=+j TI 

TM-399 
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PP 2 and PP 3 are zero because of the pole zero cancellation 

at these points. Expressing the numerator and denominator 

of Y(s) as infinite series: 

Y (s) = 
TI[l+l-s+~~ - • • •] 

Using the long division algorithm: 

:~ PP 4= (~)' !_ 
s=O TI s 

Collecting the principal parts: 

A (s) = _ -~TI_(,_e_+_l-')'------ + (;) ! 
(TI 2+1) (e-1) (s+l) 



5. 

6. 

-11:-

P (s)' = H(s)X (s) - A(s) 
0 0 

rr(e+l) p (S) I = 
0 2 ( rr + 1) ( e-1) 

(2/rr) 
s 
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At this point it is important to notice that the first term 

has a shifting function, e-s, which places that part of the 

periodic time domain solution out of the period of interest 

where p 0 (t)' is defined. Therefore, this part of the solution 

must be neglected before proceeding, i.e. 

p (S) I = 
0 

Tf + TI (e+l) 
(rr 2+1) (e-1) 

(2/rr) 
s 

Now expressing the first term in partial fractions yields: 

(-Tf-) 1 1 
= \rr

2+1; + 2(-rr-j) + 2(-rr+j) + rr(e+l) 
(s+l) (s+jrr) (s-jrr) (rr 2+1) (e-1) (s+l) 

or 

p (S) I = 
0 

a (t) = -

Po (t) ' = 

2rre _ 2/rr + TI 

(rr 2+1) (e-1) (s+l) s (rr 2+1) (s 2+rr 2 ) 

rr(e+l)e -t 2 + -
(rr 2+1) (e-1) Tf 

2rre e -t 
(~) + sin(rrt) TfCOS ( Trt) -

(rr2+1) (rr2+1) (e-1) \ Tf (rr 2+1) 

s Tf 

2/rr 
s 



-12-

Evaluating the constants yields: 

a(t) = -0.62544 e-t + 0.63662 

TM-399 
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Po (t) ' = f o.91446 e-t - 0,63662 + 0.09200 sin(nt) 
l 

- 0.2B903 cos(nt~ 

See Figure 2 for a picture of these results. 

EXAMPLE III. Approximation .of. a: 6-pulse SCR Power Supply 
Operating in the Constant Current Mode and 
Driving an Inductive Load 

1. 

(volts) mT 1 

x (t} 
I" ?slope 

""· = -m 

~ 
.,, 

I t 
0 Tl T T+T1 

(volts) mT 1 

~ope x
0 

(t) = -m 

~ t 
0 Tl 

Note: The approximation in this problem is in assuming that 

the small portion of the sine wave shown above has a 

constant slope of -m. 

x (t) = mT1 - mt + m(t-T1 )µ_ 1 (t-T
1

) 
0 

mT1 
-sT mT1 ( -sT) 1 

X
0

(s) ~+ me - m2 1-e 1 = -- - = --s 2 2 s s s s 



2. 

3. 
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+ I~ Ls 

I ( s) = Y(s) 

R 

H(s) = 1 - 1 - ( 1) (~) 
Ls+R - L (s+~) - R {s+~) 

L 
Let: R = T 

i.e. 

y ( s) 

H(s) = (1) (~) 
R (s+;) 

[ ( -sT)] 1 Tl 1-e l 
= H ( s ) x o ( s ) = (m,) T") s - . - :2. 

(1-e-sT) R s+;)(1-e sT) 

4. Using the formula for a_
1 

above: 

TM-399 
0500 

= H(s)X(s) 
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or 

Expressing the numerator and denominator of Y(s) as infinite 

series: 

[ ! ) 2 J 
( Tl/-r) 

l iT1 s 

(~) 
(T') Tls-' 2!. + ••• 

y ( s) = 
( s 2 +~) [Ts - ( T ~ ~ 2 + ... J (s3+s:)[Ts- (T~i 2 

+ •. ·] 

or 

(Tl/-r) 
_! [ T s- ( T 1 s) 2 + ... J 

Y ( s) (~) T 1 2! = 
[ (T) 2 .f T2) s3-····J [ f T) 3 ( T

2
) 4 J 

T S + \?--2-r. ~. - s + ' T-~ s - • • • 1;r 2T 

Using the long division algorithm twice: 

(~) ~ - (~}- [T-~]~+ • • • 

[(~)s2+(T-~)s3-···] I ~+(~)(T-h) s _ ... 

-(;)(T-~!)s + ••• 

(~) (T-~!)s - • • • 

.,, 



5. 
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[ IT) 3 ( T2) 4 J \Ts+ T-2T s -••• [T -s- (T 1s)2 + • • • J 
1 2! 

... pp 2 = (~J { c.i) [u t2 -( ~r (T-~~ )!J 

(~) [(T n sl2 - (~) (T~ '+ (T~ ') ( T-~~)) ~J } 
or PP 2 = (~) (~~

2

) ~ 
Collecting the principal parts: 

A(s) = (~) 

p ( S) I 
0 

= H(s)X 0 (s) - A (s) 

p ( S) I = (!!!/ T1/T - (~) l-e-sT1) + [, ( e Tl/ T -1)- Tl J _ (Tl 2 ) 
0 R ' ( l) s2 1 

(eT/T_1) ( s+~) 2T ls s+T s+-T 

1 -s 



6. 

a (t) 

Po (t)' 

7. y(t) =a(t) +p
0

(t) 

-16-

T 2 
1 

- 2T 
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In order to find the maximum value of p
0
(t)' for O<t<T1 , 

the derivative of p
0

(t)' will be taken: 

(~) 

Setting the derivative equal to zero and solving for t max 

yields: 
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Since this particular example was the "raison d'etre" of 

this work, two numerical substitutions will be made: Case A 

using simple numbers with T1 as a parameter and Case B using 

the actual values encountered in a 6-pulse SCR-power supply 

driving a constant current into a magnet load. In Case B 

T1 = T for maximum ripple current on the output. 

See Fig. 3 for a picture of Case A where: L = 1 hy., 

R = 1n, m = 1, T = 1, T = 2, i.e. 

Case B involved an Acme 6-pulse SCR-power supply driving 

a quadrupole magnet in the current mode. The worst case 

driving voltage waveform looked as follows: 

1' ~ 
265 v. Ji ~ 

,k T =T= 
1 

~I ~ego218 1~ 

etc. 

---)t 

where T = T1 = 0.00278 

R = i. 65n 

L = 1. 65 hy. 

T = L/R = 1 

95,324 265 m = = 0.00278 
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The results of substituting these values in the general 

equations above are: 

a ( °") = 80.3030 amp 

po(O)' = p
0

(T1 )' = -0.0372 amp 

tmax - 0.0013897 

p 
0 

( tmax) ' --- + 0 :: 018 6 amp 

peak-to-peak ripple= p
0

(tmax)' - p
0

(0)' = 0.0558 amp 

It will be noted that the maximum value occurs almost at 

the midpoint of the period T so that the actual ripple output 

current must be approximately symmetrical about the value T/2. 

Acknowledgement 

This work is patterned after a section of LePage's book, 

"Complex Variables and Laplace Transforms" 1961. However, he 

excludes from consideration the common case where poles of 

-sT H(s)X
0

(s) coincide with roots of (1-e ) , which are covered 

here in the examples. 
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